

Master of Business Administration, IV-SEMESTER

Result Declaration Date: 12-07-2024 Notification No: 1689

MBD002: Marketing Analytics MBD015: Decision Analysis Techniques MGH-02: Compensation Management MGH-07: PERFORMANCE MANAGEMENT MGT-41: PROJECT MANAGEMENT MGT-42: ENTREPRENEURSHIP DEVELOPMENT MGT-43: Business Intelligence MGT-44: Major Research Project MGT-45: Emotional Intelligence and Managerial Effectiveness

Sr.No	Roll No.	Name of Student	MBD002	MBD015	MGH-02	MGH-07	MGT-41	MGT-42	MGT-43	MGT-44	MGT-45	SGPA	т.	Failed
31.110	noii No.	Name of Student	4.00	4.00	4.00	4.00	4.00	2.00	2.00	6.00	2.00	JOUPA		Courses
1	2K22/UMBA/01	A V S PRANUTI	0	A+	A+	A+	В	A+	A+	0	Α	8.88	32	
2	2K22/UMBA/113	TWINKLE	B+	B+	B+	Α	Р	Α	Α	B+	Α	6.94	32	
3	2K22/UMBA/28	CHESTA TYAGI	Α	Α	B+	Α	С	A+	Α	B+	Α	7.38	32	
4	2K22/UMBA/34	HARSHITA CHOUDHARY	0	A+	A+	Α	Α	Α	A+	0	B+	8.88	32	
5	2K22/UMBA/49	PRERNA GUPTA	A+	A+	В	A+	В	Α	Α	B+	Α	7.69	32	
6	2K22/UMBA/54	RIYA ARORA	A+	B+	Α	Α	С	Α	Α	Α	Α	7.63	32	

MBD002: Marketing Analytics MBD003: Pricing Analytics MGI-06: Knowledge Management & Big Data MGI-13: Artificial Intelligence MGT-41: PROJECT MANAGEMENT MGT-42: ENTREPRENEURSHIP DEVELOPMENT MGT-43: Business Intelligence MGT-44: Major Research Project MGT-45: Emotional Intelligence and Managerial Effectiveness

Sr.No	Roll No.	Name of Student	MBD002	MBD003	MGI-06	MGI-13	MGT-41	MGT-42	MGT-43	MGT-44	MGT-45	SGPA TC	Failed
31.110	Holl No.	Name of Student	4.00	4.00	4.00	4.00	4.00	2.00	2.00	6.00	2.00	JOGFAIL	Courses
7	2K22/UMBA/35	HIMANSHU KUMAR	A+	A+	A+	Α	С	Α	Α	0	A+	8.44 32	

MGH-02: Compensation Management MGH-07: PERFORMANCE MANAGEMENT MGI-06: Knowledge Management & Big Data MGI-13: Artificial Intelligence MGT-41: PROJECT MANAGEMENT MGT-42: ENTREPRENEURSHIP DEVELOPMENT MGT-43: Business Intelligence MGT-44: Major Research Project MGT-45: Emotional Intelligence and Managerial Effectiveness

OIC (Results)

Controller of Examination



(1 officing Beini Gonege of Engineering

THE RESULT OF THE CANDIDATE WHO APPEARED IN THE FOLLOWING EXAMINATION HELD IN MAY 2024 IS DECLARED AS UNDER:-

Master of Business Administration, IV-SEMESTER

Result Declaration Date: 12-07-2024 Notification No: 1689

Sr.No	Roll No.	Name of	MGH-02	MGH-07	MGI-06	MGI-13	MGT-41	MGT-42	MGT-43	MGT-44	MGT-45	SGPA TC	Failed
31.140	Holl No.	Student	4.00	4.00	4.00	4.00	4.00	2.00	2.00	6.00	2.00	Jarait	Courses
8	2K22/UMBA/90	CHANDRA PRAKASH	В	В	Α	B+	Р	Α	В	Р	Α	6 32	

MBD002: Marketing Analytics MBD003: Pricing Analytics MGM-02: INTERGRATED MARKETING COMMUNICATIONS MGM-13: Strategic Brand Management MGT-41: PROJECT MANAGEMENT MGT-42: ENTREPRENEURSHIP DEVELOPMENT MGT-43: Business Intelligence MGT-44: Major Research Project MGT-45: Emotional Intelligence and Managerial Effectiveness

Sr.No	Roll No.	Name of Student	MBD002	MBD003	MGM-02	MGM-13	MGT-41	MGT-42	MGT-43	MGT-44	MGT-45	SGPA	TC	Failed
31.110	HOII NO.	Name of Student	4.00	4.00	4.00	4.00	4.00	2.00	2.00	6.00	2.00	SGFA		Courses
9	2K22/UMBA/06	ABHISHEK GUPTA	В	B+	Р	Р	Р	B+	Р	B+	Α	5.63	32	
10	2K22/UMBA/08	ABHISHEK KUMAR SINGH	A+	A+	В	С	С	Α	Α	B+	B+	7	32	
11	2K22/UMBA/107	RITIK TANWAR	Α	B+	Р	P	Р	Α	B+	B+	B+	6.06	32	d
12	2K22/UMBA/108	SAGAR THAKUR	Α	Α	В	В	С	Α	В	A+	Α	7.19	32	d
13	2K22/UMBA/116	SOURAJ SARKAR	A+	A+	В	С	В	Α	B+	Α	С	7.13	32	d
14	2K22/UMBA/13	ADITYA NISCHAL	Α	Α	С	В	Р	Α	В	B+	Α	6.56	32	d
15	2K22/UMBA/19	ANKIT AKSHAY	A+	0	B+	A+	B+	A+	Α	A+	Α	8.5	32	1
16	2K22/UMBA/20	ANKIT BAJAJ	A+	A+	В	Α	С	Α	Α	A+	B+	7.75	32	d
17	2K22/UMBA/23	AVIRAL SAXENA	B+	Α	В	С	Р	Α	B+	Α	Α	6.69	32	1
18	2K22/UMBA/32	GOPIKA MANGLA	A+	Α	Α	A+	В	Α	B+	0	Α	8.31	32	i
19	2K22/UMBA/78	VIPUL GARG	A+	0	С	Р	B+	Α	B+	B+	B+	7.06	32	

√
OIC (Results)



Master of Business Administration, IV-SEMESTER

Result Declaration Date: 12-07-2024 Notification No: 1689

MBD003: Pricing Analytics MBD015: Decision Analysis Techniques MGM-02: INTERGRATED MARKETING COMMUNICATIONS MGM-13: Strategic Brand Management MGT-41: PROJECT MANAGEMENT MGT-42: ENTREPRENEURSHIP DEVELOPMENT MGT-43: Business Intelligence MGT-44: Major Research Project MGT-45: Emotional Intelligence and Managerial Effectiveness

Sr.No	Roll No.	Name of	MBD003	MBD015	MGM-02	MGM-13	MGT-41	MGT-42	MGT-43	MGT-44	MGT-45	SCDA T	Failed
31.110	Holl No.	Student	4.00	4.00	4.00	4.00	4.00	2.00	2.00	6.00	2.00	JSGFA	Courses
20	2K22/UMBA/86	ARSHLAAN HUSSAIN	A+	A+	В	B+	В	А	B+	Α	B+	7.5	2

MBD002: Marketing Analytics MBD015: Decision Analysis Techniques MGM-02: INTERGRATED MARKETING COMMUNICATIONS MGM-13: Strategic Brand Management MGT-41: PROJECT MANAGEMENT MGT-42: ENTREPRENEURSHIP DEVELOPMENT MGT-43: Business Intelligence MGT-44: Major Research Project MGT-45: Emotional Intelligence and Managerial Effectiveness

Sr.No	Roll No.	Name of Student	MBD002	MBD015	MGM-02	MGM-13	MGT-41	MGT-42	MGT-43	MGT-44	MGT-45	SGPA	тс	Failed
31.140	noii No.	Name of Student	4.00	4.00	4.00	4.00	4.00	2.00	2.00	6.00	2.00	JGFA		Courses
21	2K22/UMBA/02	AARUSHI KUMAR	0	Α	Α	B+	A+	A+	Α	Α	Α	8.31	32	
22	2K22/UMBA/26	BHAVIKA	Α	В	B+	Α	С	B+	A+	B+	Α	7.06	32	
23	2K22/UMBA/43	MEGHANA AGNIHOTRI	0	A+	A+	Α	В	A+	A+	0	A+	8.81	32	
24	2K22/UMBA/50	RADHIKA GUPTA	A+	A+	B+	Α	В	Α	Α	B+	B+	7.63	32	
25	2K22/UMBA/72	SUNNY KALRA	A+	B+	Р	Р	В	Α	B+	B+	B+	6.44	32	
26	2K22/UMBA/74	TANVI SHARMA	A+	A+	B+	A+	B+	A+	Α	B+	Α	8	32	

OIC (Results)



Master of Business Administration, IV-SEMESTER

Result Declaration Date: 12-07-2024 Notification No: 1689

MGH-02: Compensation Management MGH-07: PERFORMANCE MANAGEMENT MGM-02: INTERGRATED MARKETING COMMUNICATIONS MGM-13: Strategic Brand Management MGT-41: PROJECT MANAGEMENT MGT-42: ENTREPRENEURSHIP DEVELOPMENT MGT-43: Business Intelligence MGT-44: Major Research Project MGT-45: Emotional Intelligence and Managerial Effectiveness

Sr.No	Roll No.	Name of Student	MGH-02	MGH-07	MGM-02	MGM-13	MGT-41	MGT-42	MGT-43	MGT-44	MGT-45	SGPA	TC	Failed
31.110	noli No.	Name of Student	4.00	4.00	4.00	4.00	4.00	2.00	2.00	6.00	2.00	JOUPA		Courses
27	2K22/UMBA/100	KSHITIZ PANWAR	B+	В	В	С	С	Α	В	B+	Α	6.31	32	
28	2K22/UMBA/104	PRIYA SINHA	0	0	0	0	A+	A+	0	Α	Α	9.31	32	
29	2K22/UMBA/117	SRISHTI ARORA	Α	В	С	Α	С	Α	B+	A+	B+	7.06	32	
30	2K22/UMBA/53	RITIKA SARASWAT	P	B+	В	С	Р	B+	B+	B+	Α	5.94	32	
31	2K22/UMBA/65	SHREYANSH JINDAL	Α	B+	B+	С	С	Α	B+	Α	Α	6.94	32	
32	2K22/UMBA/70	SONY	F	F	Р	Р	F	С	С	Α	С	3.44	20	MGH-02 MGH-07 MGT-41
33	2K22/UMBA/73	TANISH BANSAL	F	С	Р	Р	Р	B+	Р	Α	B+	4.75	28	MGH-02
34	2K22/UMBA/84	ANJALI RAJORA	B+	Α	Р	Р	С	A+	Α	С	B+	5.94	32	·
35	2K22/UMBA/97	JANVI AGGARWAL	С	В	Р	Р	С	Α	B+	Α	Α	5.94	32	·

MGI-06: Knowledge Management & Big Data MGI-13: Artificial Intelligence MGM-02: INTERGRATED MARKETING COMMUNICATIONS MGM-13: Strategic Brand Management MGT-41: PROJECT MANAGEMENT MGT-42: ENTREPRENEURSHIP DEVELOPMENT MGT-43: Business Intelligence MGT-44: Major Research Project MGT-45: Emotional Intelligence and Managerial Effectiveness

Sr.No	Roll No.	Name of Student	MGI-06	MGI-13	MGM-02	MGM-13	MGT-41	MGT-42	MGT-43	MGT-44	MGT-45	SGPA TC F	ailed
31.140	Holl No.	Name of Student	4.00	4.00	4.00	4.00	4.00	2.00	2.00	6.00	2.00	Co	ourses

OIC (Results)



Master of Business Administration, IV-SEMESTER

Result Declaration Date: 12-07-2024 Notification No: 1689

36	2K22/UMBA/57	RUPANJAN ACHARYA	A	B+	В	С	Р	Α	Α	B+	A+	6.63	32	
37	2K22/UMBA/94	HARSHIT SIROHI	Α	Α	Р	В	Р	Α	В	B+	Α	6.44	32	

MBD002 : Marketing Analytics MBD004 : Financial Analytics MBD015 : Decision Analysis Techniques MGS-05 : Business Process Management and Change MGT-41 : PROJECT MANAGEMENT MGT-42 : ENTREPRENEURSHIP DEVELOPMENT MGT-43 : Business Intelligence MGT-44 : Major Research Project MGT-45 : Emotional Intelligence and Managerial Effectiveness

Cr.	.No	Roll No.	Name of Student	MBD002	MBD004	MBD015	MGS-05	MGT-41	MGT-42	MGT-43	MGT-44	MGT-45	SCDV.	Failed
31.	.140	noii No.	Name of Student	4.00	4.00	4.00	4.00	4.00	2.00	2.00	6.00	2.00	JSGFA	Courses
	38	2K22/UMBA/95	HIMANI SURYAVANSHI	Α	0	A+	B+	В	A+	Α	0	Α	8.44	32

MBD015: Decision Analysis Techniques MGM-02: INTERGRATED MARKETING COMMUNICATIONS MGM-13: Strategic Brand Management MGS-05: Business Process Management and Change MGT-41: PROJECT MANAGEMENT MGT-42: ENTREPRENEURSHIP DEVELOPMENT MGT-43: Business Intelligence MGT-44: Major Research Project MGT-45: Emotional Intelligence and Managerial Effectiveness

Sr.No	Roll No.	Name of Student	MBD015	MGM-02	MGM-13	MGS-05	MGT-41	MGT-42	MGT-43	MGT-44	MGT-45	SCDA	тс	Failed
31.NO	noii No.	Name of Student	4.00	4.00	4.00	4.00	4.00	2.00	2.00	6.00	2.00	JUPA		Courses
39	2K22/UMBA/21	ASHISH GARG	B+	С	С	B+	С	B+	В	В	Α	6.06	32	
40	2K22/UMBA/37	ITI SHARMA	Α	0	B+	A+	В	Α	A+	0	A+	8.5	32	
41	2K22/UMBA/63	SHIVAM SRIVASTAV	Α	B+	В	0	Α	Α	Α	A+	0	8.19	32	
42	2K22/UMBA/68	SIDDHARTH MADHUKAR	С	B+	Р	В	Р	Α	B+	Α	Α	6.19	32	
43	2K22/UMBA/81	ABHISEK JENA	A+	B+	B+	0	B+	A+	A+	0	A+	8.56	32	

OIC (Results)



Master of Business Administration, IV-SEMESTER

Result Declaration Date: 12-07-2024 Notification No: 1689

MGM-02: INTERGRATED MARKETING COMMUNICATIONS MGM-13: Strategic Brand Management MGS-04: TOTAL QUALITY MANAGEMENT MGS-05: Business Process Management and Change MGT-41: PROJECT MANAGEMENT MGT-42: ENTREPRENEURSHIP DEVELOPMENT MGT-43: Business Intelligence MGT-44: Major Research Project MGT-45: Emotional Intelligence and Managerial Effectiveness

Sr.No	Roll No.	Name of Student	MGM-02	MGM-13	MGS-04	MGS-05	MGT-41	MGT-42	MGT-43	MGT-44	MGT-45	SGPA	т.	Failed
S1.NO	HOII NO.	Name of Student	4.00	4.00	4.00	4.00	4.00	2.00	2.00	6.00	2.00	SGPA		Courses
44	2K22/UMBA/10	ADITYA JANGID	С	Р	С	С	Р	B+	Р	Α	B+	5.5	32	
45	2K22/UMBA/103	SHRESHTH KHANNA	Р	Α	В	B+	С	Α	В	С	В	5.94	32	<u> </u>
46	2K22/UMBA/109	SAHIL SHARMA	A+	B+	Α	Α	С	A+	Α	Α	Α	7.69	32	<u> </u>
47	2K22/UMBA/112	SHUBHANKER SHERAWAT	С	Р	B+	B+	Р	Α	B+	B+	Α	6.13	32	<u> </u>
48	2K22/UMBA/114	VIKRAM CHANDRA SINHA	Р	Р	С	С	F	B+	Р	Р	С	4	28	MGT-41
49	2K22/UMBA/12	ADITYA MANNA	Α	Р	Α	В	С	Α	Α	Α	Α	6.88	32	1
50	2K22/UMBA/22	ASHUTOSH BISARIA	В	P	В	В	С	Α	В	Α	Α	6.25	32	1
51	2K22/UMBA/48	PANKAJ CHAUHAN	С	P	С	B+	Р	Α	Α	Α	Α	6.13	32	1
52	2K22/UMBA/51	RAVI KUMAR SHARMA	Р	P	С	С	Р	Α	В	Α	Α	5.63	32	
53	2K22/UMBA/52	RISHI SHARMA	В	Р	В	В	Р	Α	B+	В	Α	5.81	32	
54	2K22/UMBA/87	ARYAN GUGLANI	С	B+	В	В	С	Α	B+	Α	Α	6.56	32	
55	2K22/UMBA/93	HARMAN BATRA	Р	B+	С	С	С	B+	В	С	Α	5.5	32	

MBD004: Financial Analytics MBD015: Decision Analysis Techniques MGF-06: CORPORATE MERGERS, ACQUISITIONS AND RESTRUCTURING MGF-13: Investment Banking MGT-41: PROJECT MANAGEMENT MGT-42: ENTREPRENEURSHIP DEVELOPMENT MGT-43: Business Intelligence MGT-44: Major Research Project MGT-45: Emotional Intelligence and Managerial Effectiveness

OIC (Results)



Master of Business Administration, IV-SEMESTER

Result Declaration Date: 12-07-2024 Notification No: 1689

Sr.No	Roll No.	Name of Student	MBD004	MBD015	MGF-06	MGF-13	MGT-41	MGT-42	MGT-43	MGT-44	MGT-45	SGPA	TC	Failed
31.140	Holl No.	Name of Student	4.00	4.00	4.00	4.00	4.00	2.00	2.00	6.00	2.00	Jara		Courses
56	2K22/UMBA/106	RISHABH SOLANKI	0	B+	B+	Α	P	B+	С	В	B+	6.81	32	
57	2K22/UMBA/80	YATHARTH NIJHARA	0	A+	Α	0	С	Α	B+	Р	Α	7.44	32	
58	2K22/UMBA/99	KRITIKA KAPOOR	0	Α	Α	Α	В	A+	B+	В	Α	7.63	32	

MBD002: Marketing Analytics MBD004: Financial Analytics MGF-06: CORPORATE MERGERS, ACQUISITIONS AND RESTRUCTURING MGF-13: Investment Banking MGT-41: PROJECT MANAGEMENT MGT-42: ENTREPRENEURSHIP DEVELOPMENT MGT-43: Business Intelligence MGT-44: Major Research Project MGT-45: Emotional Intelligence and Managerial Effectiveness

Sr.No	Roll No.	Name of	MBD002	MBD004	MGF-06	MGF-13	MGT-41	MGT-42	MGT-43	MGT-44	MGT-45	SGPA	тс	Failed
31.140	Holl No.	Student	4.00	4.00	4.00	4.00	4.00	2.00	2.00	6.00	2.00	JUFA	'	Courses
59	2K22/UMBA/03	AASHISH KUMAR	B+	A+	B+	Α	С	Α	С	В	Α	6.94	32	
60	2K22/UMBA/25	BHARTI	В	0	B+	B+	Р	B+	В	Α	Α	7.06	32	

MGF-06: CORPORATE MERGERS, ACQUISITIONS AND RESTRUCTURING MGF-13: Investment Banking MGH-02: Compensation Management MGH-07: PERFORMANCE MANAGEMENT MGT-41: PROJECT MANAGEMENT MGT-42: ENTREPRENEURSHIP DEVELOPMENT MGT-43: Business Intelligence MGT-44: Major Research Project MGT-45: Emotional Intelligence and Managerial Effectiveness

Sr.No	Roll No.	Name of Student	MGF-06	MGF-13	MGH-02	MGH-07	MGT-41	MGT-42	MGT-43	MGT-44	MGT-45	SCDV	тс	Failed
31.110	HOII NO.	Name of Student	4.00	4.00	4.00	4.00	4.00	2.00	2.00	6.00	2.00	JOGFA		Courses
61	2K22/UMBA/71	STUTI SRIVASTAVA	Α	B+	B+	В	Р	B+	В	Α	Α	6.81	32	
62	2K22/UMBA/88	ASHISH KUMAR JHA	Α	A+	B+	Α	С	B+	B+	Α	B+	7.44	32	

OIC (Results)



Master of Business Administration, IV-SEMESTER

Result Declaration Date: 12-07-2024 Notification No: 1689

63	2K22/UMBA/96 ISHITA ARORA	0	A+	Α	Α	B+	A+	Α	Α	B+	8.25	32	

MGF-06: CORPORATE MERGERS, ACQUISITIONS AND RESTRUCTURING MGF-13: Investment Banking MGM-02: INTERGRATED MARKETING COMMUNICATIONS MGM-13: Strategic Brand Management MGT-41: PROJECT MANAGEMENT MGT-42: ENTREPRENEURSHIP DEVELOPMENT MGT-43: Business Intelligence MGT-44: Major Research Project MGT-45: Emotional Intelligence and Managerial Effectiveness

Sr.No	Roll No.	Name of Student	MGF-06	MGF-13	MGM-02	MGM-13	MGT-41	MGT-42	MGT-43	MGT-44	MGT-45	SGPA	TC	Failed
SI.NO	noii No.	Name of Student	4.00	4.00	4.00	4.00	4.00	2.00	2.00	6.00	2.00	JSGFA	10	Courses
64	2K22/UMBA/07	ABHISHEK JAIN	A+	A+	В	В	Р	B+	Α	B+	Α	7	32	
65	2K22/UMBA/105	RAHUL RAJ	A+	A+	С	Р	С	Α	B+	A+	A+	7.19	32	
66	2K22/UMBA/11	ADITYA KUMAR	B+	Α	Р	Р	С	B+	С	Α	Α	6.25	32	
67	2K22/UMBA/111	SHANTANU SHARMA	В	В	Р	Р	Р	В	B+	Α	Α	5.81	32	
68	2K22/UMBA/45	MONIKA GARG	A+	A+	В	В	Р	Α	B+	B+	Α	7	32	
69	2K22/UMBA/47	NISHTHA KAPOOR	0	0	В	В	B+	A+	A+	B+	A+	7.88	32	
70	2K22/UMBA/61	SAMYAK JAIN	B+	В	С	Р	С	Α	С	В	Α	5.81	32	
71	2K22/UMBA/62	SATWIK PALIT	A+	A+	B+	Р	B+	Α	Α	B+	B+	7.25	32	
72	2K22/UMBA/64	SHREYA GUPTA	Α	Α	В	B+	В	Α	Α	Α	Α	7.38	32	
73	2K22/UMBA/67	SIDDHARTH BHARGAVA	A+	A+	B+	В	В	Α	B+	A+	Α	7.75	32	

MBD015: Decision Analysis Techniques MGF-06: CORPORATE MERGERS, ACQUISITIONS AND RESTRUCTURING MGF-13: Investment Banking MGS-05: Business Process Management and Change MGT-41: PROJECT MANAGEMENT MGT-42: ENTREPRENEURSHIP DEVELOPMENT MGT-43: Business Intelligence MGT-44: Major Research Project MGT-45: Emotional Intelligence and Managerial Effectiveness

OIC (Results)



Master of Business Administration, IV-SEMESTER

Result Declaration Date: 12-07-2024 Notification No: 1689

Sr.No	Roll No.	Name of	MBD015	MGF-06	MGF-13	MGS-05	MGT-41	MGT-42	MGT-43	MGT-44	MGT-45	SCDA		Failed
31.140	Holl No.	Student	4.00	4.00	4.00	4.00	4.00	2.00	2.00	6.00	2.00	JOGFA	~ c	Courses
74	2K22/UMBA/15	AJAY KUMAR	A+	A+	A+	Α	С	A+	B+	B+	A+	7.88	32	
75	2K22/UMBA/29	DARPAN TULI	Α	0	0	A+	В	A+	Α	Α	A+	8.5	32	

MBD003: Pricing Analytics MBD004: Financial Analytics MGF-06: CORPORATE MERGERS, ACQUISITIONS AND RESTRUCTURING MGF-12: Financial Risk Management MGT-41: PROJECT MANAGEMENT MGT-42: ENTREPRENEURSHIP DEVELOPMENT MGT-43: Business Intelligence MGT-44: Major Research Project MGT-45: Emotional Intelligence and Managerial Effectiveness

Sr.No	Roll No.	Name of Student	MBD003	MBD004	MGF-06	MGF-12	MGT-41	MGT-42	MGT-43	MGT-44	MGT-45	SGPA	тс	Failed
31.110	Holl No.	Name of Student	4.00	4.00	4.00	4.00	4.00	2.00	2.00	6.00	2.00	JULA		Courses
76	2K22/UMBA/18	AMISHA MAHESHWARI	A+	0	A+	A	В	A	B+	В	B+	7.75	32	

MBD004: Financial Analytics MBD015: Decision Analysis Techniques MGF-06: CORPORATE MERGERS, ACQUISITIONS AND RESTRUCTURING MGF-12: Financial Risk Management MGT-41: PROJECT MANAGEMENT MGT-42: ENTREPRENEURSHIP DEVELOPMENT MGT-43: Business Intelligence MGT-44: Major Research Project MGT-45: Emotional Intelligence and Managerial Effectiveness

Sr.No	Roll No.	Name of Student	MBD004	MBD015	MGF-06	MGF-12	MGT-41	MGT-42	MGT-43	MGT-44	MGT-45	SCDA	т.	Failed
31.110	noii No.	Name of Student	4.00	4.00	4.00	4.00	4.00	2.00	2.00	6.00	2.00	SGFA	'	Courses
77	2K22/UMBA/14	AGRIM MATHUR	0	Α	B+	Α	Р	Α	B+	В	B+	7.13	32	i
78	2K22/UMBA/40	MANSI NEGI	0	Α	A+	Α	В	A+	A+	В	Α	7.88	32	i
79	2K22/UMBA/42	MEGHA GOYAL	0	B+	B+	В	Р	Α	Α	B+	B+	7	32	i
80	2K22/UMBA/46	NIKITA SONI	0	0	A+	B+	В	A+	Α	С	B+	7.69	32	

OIC (Results)



Master of Business Administration, IV-SEMESTER

Result Declaration Date: 12-07-2024 Notification No: 1689

81	2K22/UMBA/60	SALONI SHARMA	0	B+	A+	С	С	A+	0	B+	Α	7.5	32	
82	2K22/UMBA/82	ADITI GARG	0	Α	A+	Α	С	Α	Α	В	Α	7.63	32	

MGF-06: CORPORATE MERGERS, ACQUISITIONS AND RESTRUCTURING MGF-12: Financial Risk Management MGM-02: INTERGRATED MARKETING COMMUNICATIONS MGM-13: Strategic Brand Management MGT-41: PROJECT MANAGEMENT MGT-42: ENTREPRENEURSHIP DEVELOPMENT MGT-43: Business Intelligence MGT-44: Major Research Project MGT-45: Emotional Intelligence and Managerial Effectiveness

Sr.No	Roll No.	Name of Student	MGF-06	MGF-12	MGM-02	MGM-13	MGT-41	MGT-42	MGT-43	MGT-44	MGT-45	SGPA	TC	Failed
31.110	HOII NO.	Name of Student	4.00	4.00	4.00	4.00	4.00	2.00	2.00	6.00	2.00	JOH		Courses
83	2K22/UMBA/102	MANAV ASWANI	A+	В	В	В	С	A+	B+	С	Α	6.44	32	
84	2K22/UMBA/27	CHANDER MAULI TRIPATHI	А	B+	С	С	С	A	В	B+	B+	6.38	32	
85	2K22/UMBA/38	KESHAV VERMA	В	В	Р	P	Р	В	С	B+	B+	5.44	32	
86	2K22/UMBA/59	SAKSHAM DAKSH	Α	Α	B+	В	С	Α	В	В	Α	6.75	32	
87	2K22/UMBA/66	SHUBHAM BHATT	Α	С	С	Р	Р	Α	Α	В	Α	5.88	32	
88	2K22/UMBA/69	SONALI SINGH	A+	С	В	B+	В	Α	В	Α	B+	6.94	32	
89	2K22/UMBA/85	ARJUN VASISTHA	A+	B+	В	Α	В	A+	B+	Α	Α	7.5	32	
90	2K22/UMBA/91	DEVANSHU JAGOTA	A+	B+	B+	B+	Α	A+	B+	Α	Α	7.75	32	

MBD015: Decision Analysis Techniques MGF-06: CORPORATE MERGERS, ACQUISITIONS AND RESTRUCTURING MGF-12: Financial Risk Management MGS-05: Business Process Management and Change MGT-41: PROJECT MANAGEMENT MGT-42: ENTREPRENEURSHIP DEVELOPMENT MGT-43: Business Intelligence MGT-44: Major Research Project MGT-45: Emotional Intelligence and Managerial Effectiveness

OIC (Results)



Master of Business Administration, IV-SEMESTER

Result Declaration Date: 12-07-2024 Notification No: 1689

Γ	Sr.No	Roll No.	Name of	MBD015	MGF-06	MGF-12	MGS-05	MGT-41	MGT-42	MGT-43	MGT-44	MGT-45	SGPA 1	Failed
	31.140	Holl No.	Student	4.00	4.00	4.00	4.00	4.00	2.00	2.00	6.00	2.00		Courses
	91	2K22/UMBA/101	KUNAL BANSAL	Α	A+	B+	В	B+	Α	B+	Α	Α	7.56	32

MGF-06: CORPORATE MERGERS, ACQUISITIONS AND RESTRUCTURING MGF-12: Financial Risk Management MGS-04: TOTAL QUALITY MANAGEMENT MGS-05: Business Process Management and Change MGT-41: PROJECT MANAGEMENT MGT-42: ENTREPRENEURSHIP DEVELOPMENT MGT-43: Business Intelligence MGT-44: Major Research Project MGT-45: Emotional Intelligence and Managerial Effectiveness

Sr.No	Roll No.	Name of	MGF-06	MGF-12	MGS-04	MGS-05	MGT-41	MGT-42	MGT-43	MGT-44	MGT-45	SGPA	тс	Failed
31.140	Mon No.	Student	4.00	4.00	4.00	4.00	4.00	2.00	2.00	6.00	2.00	Jara	'~	Courses
92	2K22/UMBA/24	AYUSH KUMAR	B+	С	В	Р	Р	B+	Р	Α	B+	5.88	32	
93	2K22/UMBA/58	SAHIL	В	С	В	B+	Р	B+	В	Р	B+	5.5	32	

MBD003: Pricing Analytics MBD004: Financial Analytics MGF-12: Financial Risk Management MGF-13: Investment Banking MGT-41: PROJECT MANAGEMENT MGT-42: ENTREPRENEURSHIP DEVELOPMENT MGT-43: Business Intelligence MGT-44: Major Research Project MGT-45: Emotional Intelligence and Managerial Effectiveness

Sr.No	Roll No.	Name of	MBD003	MBD004	MGF-12	MGF-13	MGT-41	MGT-42	MGT-43	MGT-44	MGT-45	SGPA TC	Failed
31.110	noii No.	Student	4.00	4.00	4.00	4.00	4.00	2.00	2.00	6.00	2.00	JOGFA	Courses
94	2K22/UMBA/89	BHAVYA GOYAL	B+	0	С	B+	В	Α	В	В	Α	6.88 32	

MBD004: Financial Analytics MBD015: Decision Analysis Techniques MGF-12: Financial Risk Management MGF-13: Investment Banking MGT-41: PROJECT MANAGEMENT MGT-42: ENTREPRENEURSHIP DEVELOPMENT MGT-43: Business Intelligence MGT-44: Major Research Project MGT-45: Emotional Intelligence and Managerial Effectiveness

OIC (Results)



Master of Business Administration, IV-SEMESTER

Result Declaration Date: 12-07-2024 Notification No: 1689

Sr.No	Roll No.	Name of Student	MBD004	MBD015	MGF-12	MGF-13	MGT-41	MGT-42	MGT-43	MGT-44	MGT-45	SGPA	TC	Failed
31.110	noii No.	Name of Student	4.00	4.00	4.00	4.00	4.00	2.00	2.00	6.00	2.00	JOHA		Courses
95	2K22/UMBA/110	SANKALP MISHRA	0	B+	В	Α	Р	B+	Р	Α	С	6.88	32	
96	2K22/UMBA/16	AKANSHA THAPAR	0	B+	Α	A+	B+	Α	B+	Α	B+	8	32	
97	2K22/UMBA/33	HARSHITA BHATIA	0	A+	Α	0	С	B+	Α	Α	Α	8.19	32	
98	2K22/UMBA/77	VANSHIKA CHAWLA	0	Α	B+	A+	B+	A+	A+	B+	Α	8.06	32	
99	2K22/UMBA/92	GARIMA BAJAJ	0	A+	B+	A+	В	Α	Α	В	Α	7.75	32	

MGF-12: Financial Risk Management MGF-13: Investment Banking MGH-02: Compensation Management MGH-07: PERFORMANCE MANAGEMENT MGT-41: PROJECT MANAGEMENT MGT-42: ENTREPRENEURSHIP DEVELOPMENT MGT-43: Business Intelligence MGT-44: Major Research Project MGT-45: Emotional Intelligence and Managerial Effectiveness

Sr.No	Roll No.	Name of	MGF-12	MGF-13	MGH-02	MGH-07	MGT-41	MGT-42	MGT-43	MGT-44	MGT-45	SGPA	TC Failed	
31.110	Si.ito Holi ito.	Student		4.00	4.00	4.00	4.00	4.00	2.00	2.00	6.00	2.00	JUFA	Course
100	2K22/UMBA/115	YASHIKA JAIN	B+	B+	С	B+	С	B+	B+	Α	Α	6.75	32	
101	2K22/UMBA/41	MANVI SAINI	A+	0	A+	Α	B+	A+	0	0	Α	8.94	32	

MGF-12: Financial Risk Management MGF-13: Investment Banking MGM-02: INTERGRATED MARKETING COMMUNICATIONS MGM-13: Strategic Brand Management MGT-41: PROJECT MANAGEMENT MGT-42: ENTREPRENEURSHIP DEVELOPMENT MGT-43: Business Intelligence MGT-44: Major Research Project MGT-45: Emotional Intelligence and Managerial Effectiveness

Sr.No	Roll No.	Name of Student	MGF-12	MGF-13	MGM-02	MGM-13	MGT-41	MGT-42	MGT-43	MGT-44	MGT-45	SGPA	
31.110	Holi No.	Name of Student	4.00	4.00	4.00	4.00	4.00	2.00	2.00	6.00	2.00	SGFA	Courses

OIC (Results)



Master of Business Administration, IV-SEMESTER

Result Declaration Date: 12-07-2024 **Notification No: 1689**

102	2K22/UMBA/31	GAURAV JOSHI	A+	0	Α	Α	B+	A+	B+	A+	Α	8.44	32
103	2K22/UMBA/39	KHUSHI GUPTA	B+	0	В	С	В	Α	Α	В	Α	6.88	32
104	2K22/UMBA/55	RIYA KAPOOR	В	Α	B+	B+	С	Α	B+	B+	Α	6.88	32
105	2K22/UMBA/76	UTKRIST SINGH TREHAN	С	B+	С	Р	Р	A+	В	С	Α	5.5	32
106	2K22/UMBA/79	YASHIKA BATRA	B+	0	С	A+	В	Α	A+	B+	Α	7.5	32
107	2K22/UMBA/98	JITENDER MISHRA	A+	0	Α	В	С	A+	Α	B+	A+	7.69	32

MBD015: Decision Analysis Techniques MGF-12: Financial Risk Management MGF-13: Investment Banking MGS-05: Business Process Management and Change MGT-41: PROJECT MANAGEMENT MGT-42: ENTREPRENEURSHIP DEVELOPMENT MGT-43: Business Intelligence MGT-44: Major Research Project MGT-45: Emotional Intelligence and Managerial Effectiveness

Sr.No	Roll No.	Name of Student	MBD015	MGF-12	MGF-13	MGS-05	MGT-41	MGT-42	MGT-43	MGT-44	MGT-45	SGPA	TC	Failed
31.140	noli No.	Name of Student	4.00	4.00	4.00	4.00	4.00	2.00	2.00	6.00	2.00	JUFA	10	Courses
108	2K22/UMBA/30	DEVANSHI GADODIA	Α	B+	Α	В	С	Α	С	B+	А	6.88	32	
109	2K22/UMBA/83	AKSHIT MITTAL	В	С	A	В	В	A	С	B+	Α	6.5	32	

MGF-12: Financial Risk Management MGF-13: Investment Banking MGS-04: TOTAL QUALITY MANAGEMENT MGS-05: Business Process Management and Change MGT-41 : PROJECT MANAGEMENT MGT-42 : ENTREPRENEURSHIP DEVELOPMENT MGT-43 : Business Intelligence MGT-44 : Major Research Project MGT-45 : Emotional Intelligence and Managerial Effectiveness

Sr.No	Roll No.	Name of	MGF-12	MGF-13	MGS-04	MGS-05	MGT-41	MGT-42	MGT-43	MGT-44	MGT-45	SGPA 1	Failed	П
31.140	noii No.	Student	4.00	4.00	4.00	4.00	4.00	2.00	2.00	6.00	2.00	SGFA	Courses	>

OIC (Results) Controller of Examination



Master of Business Administration, IV-SEMESTER

Result Declaration Date: 12-07-2024 Notification No: 1689

110	1 2K22/HMRA/75	UJJWAL SHARMA	Р	В	Р	В	С	B+	Р	B+	Α	5.63	32	
-----	----------------	------------------	---	---	---	---	---	----	---	----	---	------	----	--

MBD002 : Marketing Analytics MBD004 : Financial Analytics MGF-12 : Financial Risk Management MGF-13 : Investment Banking MGT-41 : PROJECT MANAGEMENT MGT-42 : ENTREPRENEURSHIP DEVELOPMENT MGT-43 : Business Intelligence MGT-44 : Major Research Project MGT-45 : Emotional Intelligence and Managerial Effectiveness

Sr.No	Roll No.	Name of Student	MBD002	MBD004	MGF-12	MGF-13	MGT-41	MGT-42	MGT-43	MGT-44	MGT-45	SGPA	тс	Failed
31.140	HOII NO.	Name of Student	4.00	4.00	4.00	4.00	4.00	2.00	2.00	6.00	2.00	JOHA	''	Courses
111	2K22/UMBA/09	ABHISHEK S IYER	0	0	0	0	B+	A+	0	0	A+	9.5	32	
112	2K22/UMBA/17	AKASH JAIN	A+	0	A+	0	В	A+	A+	A+	Α	8.81	32	
113	2K22/UMBA/56	ROHIT GUPTA	A	0	Р	B+	Р	Α	С	Α	B+	6.88	32	

OIC (Results)